

Over and Above Estimate

Region: 4

Location: WV022

CSS #: 7582

Maximo Work Order No.: 2640 **Asset#:** NA

Date Issued: 1/24/18

Original Description: Repair Gate and Fence

Diagnosis:

Remove damaged gate and replace with new one.

Non Pre-Priced Estimate:

Quantity	Line Item Number	Description	Labor Hours	Unit	Labor	Materials	Equipment	Total
1		Cantilever Slide Gate				\$2,867.97		\$2,867.97
1		60 LF Barb Wire				\$10.80		\$10.80
1		60 LF Chain Link Fabric				\$28.65		\$28.65

1		Gate Post				\$87.56		\$87.56
---	--	-----------	--	--	--	---------	--	---------

Note: RS Means (Pre-Priced) not used in compiling this estimate.

Note: Subcontractor quote attached.

Estimate Summary:

Labor Hours	Labor Cost	Material Cost	Equipment Cost	Total Cost	CE Factor	Total Estimate
2 Man Crew- 16x\$200.82- \$3,213.12	\$3,213.12	\$2,994.98		\$6,208.10	102%	\$6,332.26

Please see attached estimate

Note:

American Fence Company, LLC

750 Fairmont Ave.
Fairmont, WV 26554

(P) 304-363-7755
(F) 304-333-6050

mike@americanfencewv.com

Estimate/Proposal

Rep	Date	P.O. No.	Estimate #
CD	12/31/2018		5380

Name / Address	Project: Kingwood, WV Gate Repair		
International Support Group George Grant 9000 Sheridan St. Dembroke Pines, FL 33024	Customer Phone	Terms	
	304.663.8670	Net 30	

Description	Qty	Rate	Total
Remove damaged Gate & Post replace with new 4" Post & Gate to match existing Gate Opening			
Aluminum Gate 1.....12' w 6' + 1' Cantilever slide Gate w/ all Hardware	1	2,867.97	2,867.97
60LF.....12 1/2 Ga. Barb Wire	1	10.80	10.80
6LF.....6' 9 ga. Chain Link Fabric	1	28.65	28.65
1.....4" Sch. 40 Gate Post, Galvanized, Domestic Origin	1	87.56	87.56
Drive to Kingwood & Return To Fairmont W/ truck & tools to Remove Damaged Gate and Set New 4" Steel Post in Concrete	80	0.00	0.00
Drive to Kingwood & Return To Fairmont W/ truck & tools to Hang New Aluminum Gate	80	0.00	0.00
Labor (2 Man Crew) to demo old gate and post set new post Price per. Hr.	8	200.82	1,606.56
Labor (2 Man Crew) to Hang new Aluminum Gate,Install Barb Wire, & Stretch in Chain Link Price per. Hr.	8	200.82	1,606.56
CS # 7582 (use on all correspondence for reference)			



ID: 21598

Authorized Agent



ISN ID: ISN-02175835

Subtotal	\$6,208.10
Sales Tax	\$0.00
Total	\$6,208.10

All material is guaranteed to be as specified. All work to be completed in a workmanlike manner according to standard practices. Any alteration or deviation from the above specifications involving extra costs will be executed only upon written orders, and will become an extra charge over and above the estimate. Our workers are fully covered by Workman's Compensation Insurance. All agreements contingent upon strikes, accidents or delays beyond our control. Owner agrees: A. to carry fire, tornado and other necessary insurance. B. To be solely responsible for Locating Staking and Clearing fence lines. C. That American Fence Co., L.L.C. will not be held responsible for any damage of any nature to underground obstructions. D. To obtain any building permits if applicable E. Land owner must contact any utilities not covered by Miss Utilities of W.V.

All bids are NOT considered to be prevailing or union wage rates UNLESS otherwise stated. This bid is presented with the understanding that if a government regulatory agency requires that the wages and benefits comply with the prevailing wage laws, the owner or contractor will reimburse American Fence Co., LLC for the difference in the normal wage rate and the prevailing or union wage rate plus benefits.

Note: This proposal may be withdrawn by us if not accepted within 30(thirty) days.

Acceptance of Proposal. The above prices, specifications and conditions are satisfactory and are hereby accepted. You are authorized to do the work as specified. Payment will be made as outlined above.

Signature _____ Date

Signature _____ Date



Quality Products, Exceptional Service,
Outstanding People

www.masterhalco.com

Customer 270739
American Fence Co. LLC
750 Fairmont Ave.
Fairmont WV 26554-5136

QUOTATION

// COPY //

Date
01/02/19

Valid to
01/09/19

Quot no
5000071667

Ship To
American Fence Co. LLC
750 Fairmont Ave.
Fairmont WV 26554-5136

Ordered by
Corney
PO / Job no
AMERICAN

Responsible
Karen Scoumis - BR073
Pittsburgh PA

Payment terms
30 days net

Cash Disc. Term
1% 15 days

Delivery terms
Our Truck No Charge

Order qty	Item number	Description	U/M	Sales price	Line net
50	055406	2" x 9ga x 6' KT 1.2oz GAW 50' Roll ASTM A 392 Cls 1	FT	3.98	199.00
1	013522	4 Pt 12.5ga Barb Wire Alumz 5" 5" OC ASTM A 585 Type 1	RL	194.05	194.05

** Quotes are valid for 7 Days or shorter depending on
Vendor Quote to MH

** Customer is responsible for job breakdown and verifying
that all material/quantities listed are correct.

** Cancellation or return of Special Order Material is not
permitted after material is manufactured.

Total due

393.05

Chain Link $3.98 \times 6 = 23.88 \times 1.20 = \28.65

Barb wire $0.15 \times 60 = 9 \times 1.20 = \10.80



Quality Products, Exceptional Service,
Outstanding People

QUOTATION

Date	Valid to	Quot no
12/17/18	12/24/18	5000068202

www.masterhalco.com

Customer 270739
American Fence Co. LLC
750 Fairmont Ave.
Fairmont WV 26554-5136

Ship To
American Fence Co. LLC
750 Fairmont Ave.
Fairmont WV 26554-5136

Ordered by
mike d
PO / Job no
MIKE D

Responsible
Michael Hensch - BR073
Pittsburgh P

Payment terms
30 days net

Cash Disc. Term
1% 15 days

Delivery terms
Our Truck No Charge

Order qty	Item number	Description	U/M	Sales price	Line net
1	059132	12'x6'+1' Alum Cantilever Gate SurTrac w/o Hdw Cable Truss	EA	2,094.75	2,094.75
1	009099	Kit 4" Single Trac Hdw Galv f/Single Cantilever Gate	EA	295.23	295.23
1	33042F	4" x 10'6" DQ40 Galv Post FC Galvanized Flo-Coat	EA	98.47	98.47

** Quotes are valid for 7 Days or shorter depending on
Vendor Quote to MH

** Customer is responsible for job breakdown and verifying
that all material/quantities listed are correct.

** Cancellation or return of Special Order Material is not
permitted after material is manufactured.

Total due

2,488.45

4" Post 98.47 x 1.20 = \$118.16

Grate & Hardware 2,389.98 x 1.20 = \$2,867.97

CERTIFICATION OF WORK

(To be completed by the Contractor and saved in the Contractor's CMMS)

FACID/Building: W20 Kingwood Date of Visit: 17 Jan 18

Contractor Personnel on Site:

1. Cony Devault 2. Jeremy Clayton

Work Performed:

Preventive Maintenance - Services Completed (Annual, Quarterly, Monthly, equipment identification, etc.)

1. WO# _____

Service Calls – Service Call Number and Description

1. CSS# 7582- Gate to MP needs repaired -need quote
2. CSS# _____
3. CSS# _____

CERTIFICATION OF WORK

To be signed by the Contractor:

Print Name: American Fence Date: 1/17/18

Signed: CDV

To be signed by Facility Manager:

I certify that the above named individuals representing the Contractor arrived on site and to the best of my knowledge, completed the stated work listed:

Print Name/Rank: Jen Baile AFOS Date: 17 Jan 18

Signed: J. Baile

E-Mail: jennifer.a.baile.ctr@mail.mil

